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HH W

1,142,262
634,590
203,069
304,603

1,142,262

(01 THE)

LXAIE &R

1,142,262,000&

Mo H

1,142,262

1,142,262
634,590
203,069
304,603

1,142,262

|

JE NMHEE € HMel

Mo

8,145,717
69,500
105,300
7,970,917

7,439,305

706,412

Mol Meld el

3,354,835

2,293,061

1,061,774




AN SIAMY
M HIIE M 2 A

S Mol Meld z2tel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEANE 29 934,421 212,541 721,880

201 £B-2d| 209,221 188,941 20,280
01 At 22l 50,605 35,800 14,805
o4l 25,305
—MADIHEE FMET DY (HY, UKZ
g) 50,000& = 12& 600
—EAE3 22 50,0003 * 4004+ 63l 1,200
—d3D|, A=xD], HO 8 M8&
185,000& » 12& 2,220
—&gEs 7Y 3,000,000& 3,000
— =4 L XNAX ZBINFA =5
40,000& * 13| = 2CH 80
—EHIZE™ HIIZA & 1EXNY FIIZA =
= 35,0003 = 2CH = 23] 140
— S XTUHREL =2 300,000& = 14 300
—g&a 37 2Y & ME
250,000& * 23| 500
—ESQQTAMHIAMN AMEMHF =2
1,000,000 = 13l 1,000
—MEMYIIME HEAE EIIZAM ==
=3 16,265, 000& 16,265
ozg=¢ 24,100
— LAY 50,000& = 198 = 116 5,800
— = 2| 50,0003 = 1H » 366 18,300
ou=l 1,200
—224 HH= 150,000& = 4H =« 23| 1,200
02 =224l 158,616 153, 141 5,475
O232= % HA 120,420
—MgIIHelE dIZ(AlY)
350,000&  12& 4,200
—A0I24012 S S 23
50,000& = 10H =12& 600
— =40 & XNAX 23 200,0008 = 204 400
—HIDEY BEd= 550,000& =« 1CH 550
—18 g BEgx 550,000& * 1 550
—HZEd SFMERE= 70,0008 * 23 140
—gEZEY TtsXtAl 100,000& * 13l 100
—1EXE XASAHAl 50,000& = 13l 50
—HIEME 2E3(22)
10,000& * 9,388& 93,880
—HIISHME SES(HE/HEHIIS)
15,0002 *» 504& 7,560
—HISHME SES(HE /AL ZEIIE)
10,000& * 1,239& 12,390
oozl 300




B EEh

S HYIE MEE € X

DAMYD Held 2el 2 EA)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—0WHIl A=l 2,000& = 54 = 30« 300
OA& EHI R Xl 17,000
—HAZAE S22 2,000,000& = 23| 4,000
— CCTV =Xl &2ldl 200,000& = 504 23l 2,000
— Xotx AAE S22l (AlY)
1,000,000 1,000
— MBMY I HEIAIE EI.EXAE FA2
| 500,000& * 43| 2,000
—dEMYIIHeIANE AES X2
1,000,000& =* 83l 8,000
OXt& & Byl 20,896
—MEMYIIHE EH H=H
1,300& = 404 =« 248 12,896
— =4, EZEY 22| 8,000,000 8,000
202 odl 3,600 3,600 0
01 = LH o4 1l 3,600 3,600 0
OMPAIL 29 2z
150,000& * 29 = 12& 3,600
307 21201 A 10,000 10,000 0
05 QI & 3 10,000 10,000 0
OXMX™elEot HolE €™l 10,000,000 10,000
401 Al HI & 28I 710,000 10,000 700,000
01 A& HI 705,590 10,000 695,590
OHJIEXeE 2els & RANE=>
10,000, 000& 10,000
OMEMYIIXMeld 3EH ML SEIA
695,590,000& * 14 695,590
03 Al 20 HI 4,410 0 4,410
OMEMYIIXMeld 3EH MY SESA AL
£ gl 4,410,000 4,410
405 XHoHF S HI 1,600 0 1,600
01 AL 2 ZFH S| 1,600 0 1,600
OdaMgIIMeld 2els dNNE 7+ 1,600
— Mg + 800,000& = 1CH 800
-7V 2 800,000& = 1CH 800
L2HANE 23 2,153,000 1,840,000 313,000
201 LB-2d| 30,000 30,000 0
01 At 2t 2l 30,000 30,000 0
OMaEMY Il A2AE 2SHSSEIII |
el B2 =2 30,000,000& 30,000
401 Al Bl 28I 136,000 60,000 76,000
01 A& HI 136,000 60,000 76,000




2N

X ZH
S =

B2 A}

— O T

S HYIE MEE € X

el

Mol Meld 2el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OMEMY I 22ZAE IS Ex=3A
60,000,000& 60,000
OMEMY I A2AE HEE2LYH WSIE B
3 A 76,000,000& 76,000
403 ItXISHHSA201H 1,987,000 1,750,000 237,000
02 3I2SH A2 2 AL B 1,987,000 1,750,000 237,000
OME MY D] A2tAA 202 CHE AN HI
1,987,000,000& 1,987,000
HEH2ANE 29 90,760 83,774 6,986
201 L2 Y| 20,335 24,969 N4,634
01 At 22l Yl 11,335 15,969 N4,634
OgetL2d|(AF) 11,335
—MADIHelE =2 EBAMN =2 11,335
A= EZZA 334,700& * 821 2,678
g2 E A 334,700 * 12A 4,017
-HEAIE =89 XI5t ZAL
164,500& * 12A 1,974
Sae =EHA 365,100 » 521 1,826
M= =& 70,000& * 123 840
02 332494l 9,000 9,000 0
OAIEEHI S X8l (AF 9,000
~HES LT g oyl
5,000,000& * 13 5,000
—ANY B+ 4 S A2l
500,000& =* 43| 2,000
— AEMYIIHel & MIIAIE 22
2,000,000 2,000
206 M =8l 40,425 35,805 4,620
01 & bl 40,425 35,805 4,620
OFE4 HElAd ARE L AE]Q(AR) 40,425
—SMNEM(ZE2Y) 10,410& = 2,000¢ 20,820
—ar(mEesgeln) 23, 100& * 4004 9,240
— s m 23, 100& * 4004 9,240
— g A =0 22,500& * 504 1,125
401 Al HI YL 2 0HHI 30,000 23,000 7,000
01 A& HI 30,000 23,000 7,000
O&ES MAYE SR (AF) 30,000
— &&= MHeAdE s 30,000,000& 30,000
HIolZ2X2IAld =5 9@ 55,154 583, 160 1,994
201 LBEF2 9| 2,800 1,960 840
01 At 22l Yl 2,800 1,960 840
ozg=+4% 2,800




AN SIAMY
M HIIE M 2 A

S Mol Meld z2tel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—HIIS2H2AE =8 U A 22
Sg(a7) 100,000& = 14H « 23| 2,800
203 YR =&l 1,500 1,500 0
03 AIF=XH R =AH| 1,500 1,500 0
OoXglideld =8¢ A ESR =&
300,000& = 53| 1,500
301 LEd = 50,854 49,700 1,154
12|24 = 50,854 49,700 1,154
OJIE2 &3 50,854
—FOLARY B4
68,7203 = 262 » 20l 36,010
—~FOLANRY FYSHI
103,080& = 72 20l 14,844
ANEEZE HEAE 22l 121,500 103,586 17,914
201 L4 22,000 26,186 N4,186
01 At 2t 2l 22,000 26,186 N4,186
O e8| 22,000
— AGMIIHEIE A= 2tE] A Y ==
=3 22,000,000& 22,000
403 XIS E X201 & 99,500 77,400 22,100
02 SO 2SUHHEHAE X 2 E AL H 99,500 77,400 22,100
OANEAEESE MIIE &=+ A=K
99,500,000& 99,500
FdEEZE =4 3,487,092 3,333,409 153,683
= 64,500
[ 3,422,592
Mol EHEI 22 888,476 1,041,319 A 152,843
101 124 dl 499,516 480,310 19,206
04 JIZHHZ2XREE S 499,516 480,310 19,206
OsASMYI dE=HED| HEE2CH 340,826
— gr& 77,897
A== 130,260 * 29 » 245 63,828
f28Y224Y
130,260& » 2% = 542 14,069
— B 262,929
Jl2s 68,720 = 1198 = 2452 185,201
f28Y224Y
68,720 * 1% = 54 40,820
S 2tAld| 3,000& = 13¥ = 245 9,555
-BE8E 8 303,917,960& * 0.09 27,353
Ostgd=ZAE™& 111,984
—Jlas 68,720& * 5FH * 245 84,182




SN BHSAMD
M HIIE AHEs 2 Hel
oot HREY T4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—S=5222+=Y 68,720& * 5H x 54 18,555
— 288 8 102,736,400& * 0.09 9,247
Oxg g&3&3tet 46,706
—Jlzs 68,7203 * 48 » 111 30,512
-f382224¥
68,7203 * 4% * 0.5 » 111 15,256
—S8= 45,767 ,520& * 0.0065 298
— I =l 40,0003 * 4% = 43| 640
201 Let24dy] 149,422 148,422 1,000
01 At 22/l 131,350 132,750 A 1,400
Ogt=&H| 129,850
—MRYIIBEH AHEE 7
110,000, 000& 110,000
—SAsMYI =8 HRES
5& = 200,000H 5,000
—SEHN=sE sHUA 300,000& = 80K 2,400
—AASEAE BEE AL ME
300& = 10,0000H 3,000
— g HoIE AEH ME 1703 = 5,0000H 850
—UEmHIE A 2elHEAAEY 018 =
= 50,000& =« 123l 600
—dEMY D 22HHE X E-HEI 2E B
2= WA 2,000,000& = 23| 4,000
— SgdteA EFHMA 2 80,000 * 5004 4,000
Oogxz 1,500
— =Y HEHIs 2|
500,000& = 3CH 1,500
02 =224l 18,072 15,672 2,400
02322 % HA 17,072
— 28 XZ0l AHEZ 10,0003 = 208 » 123 240
—CCTV & SASMHI HEAHZIII HI|A
2= 20,0003 = 5004 ~ 123 12,000
— SASMAYI HEAZIII S4
4,000& * 59CH = 128 2,832
— St HJI=E 3yl 2,000,000& 2,000
OA& &8sl 1,000
— 28 XZ0l R+ 200,000& =« 5CH 1,000
202 Oddl 7,200 7,200 0
01 = LH 4 1l 7,200 7,200 0
OXEIIESEEI RF
150,000& * 4H » 123 7,200
206 M= Hl 10,000 10,000 0
01 =8l 10,000 10,000 0




SH: BHAMD
M HIIE AHEs 2 Hel
SERE-F-EE- R CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSNE~d)ls B2aces 7d(Asog
6Z) 10,000, 000& 10,000
301 LEHZ 8,200 8,200 0
01 MI2EZE 6= 7,200 7,200 0
OSaSMYI =58 HIRH M3
1,200& = 500AICH = 128 7,200
12JEEd=S 1,000 1,000 0
OXgJI2dE) & BSIESS MIENS
1,000, 000& 1,000
307 glz2tol & 75,000 258,049 A 183,049
05 RIZERIE 3 75,000 258,049 A 183,049
OYXIHIIE HMeltl 250,000& * 300& 75,000
401 Al HIZ 2018 89,138 89,138 0
01 A& HI 89,138 89,138 0
OZAI2toet ols &X 1,000,000& = 5CH 5,000
OMg Dl REEI| ZXAI3H02H WA 74,138
— MYJ] SHEI ZAIItH et wH
4,610,000 504 23,050
— S2otRA Jtiicdt 0l E=Z Al
544,000 » 201 A& 1,088
— S22 X030l Jthict wH & SE2HMAE
s 10,000,000& * 5JH £ 50,000
OMYDl 28HEIIXNY 324 10,000,000 10,000
405 Xt&tE SHI 50,000 40,000 10,000
01 AL EFHSHI 50,000 40,000 10,000
O0lsAl REEI| 2AIItHe #
4,000,000& = 10CH 40,000
O0lsSA RoE] 2ZAItde nME gtdeal
& 1,000,000 = 10K 10,000
EZ2EALAT FR 22 48,978 48,352 626
101 @14 dl 22,398 21,772 626
04 JI2ZtHZ22HEE =+ 22,398 21,772 626
OLHIAXYE EX04 22,398
—Jlas 68,720 * 1H = 245 16,837
B =R =y 68,7203 * 1H » 54 3,711
—E8= 20,547,280& * 0.09 1,850
201 Let24E] 26,580 26,580 0
02 =224l 26,580 26,580 0
O3 & HA 2,500
- 2L BEE= 2,500,000& 2,500
OXtg & et 24,080
—E2FATT =2 & RFH 17,000, 000& 17,000




SN

3 o

- _ _ RE]
CEB - HS(3H) - HBAY - B Ol At o %@i HRE2
— X B4 7 590,000  12& 7,080
MDD =& 28 FAE 2,334,638 2,213,738 120,900
201 LBt Y| 6,900 6,000 900
02 Z2=2=294| 6,900 6,000 900
Oo2232=2 <2 HA 6,900
~MEHIIS 2SI AXNEN AAH
ANES 15,000& = 30CH » 12& 5,400
—MEHIIZ STSHIY ANER AL
SXNE 5,0008 = 2500 = 12& 1,500
207 &I & 35,000 15,000 20,000
01 24| 35,000 15,000 20,000
OMBEHIIE 48 - 20 (s B} 2
15,000,000& 15,000
OMBHIIZ +8 - 20 - Xl 8 AJNME
A1E29 20,000,000 20,000
301 et M= 2,400 2,400 0
12 J|EtE2 A= 2,400 2,400 0
OMEHIIS =& - 26 HHA X Al
S LG 100,000 * 6 = 4L 2,400
402 12t XHE0| & 2,290,338 2,190,338 100,000
03 2t EFAFE HI 2,290,338 2,190,338 100,000
OMEmHIIE =& - S| 1,676,338
— 2 BEM Y D] 754,446,000 754,446
- MNEs3E 325,242,000 325,242
— SAS MY D 596,650,000 596,650
OsSAZ2MYD Heldl 614,000,000& 614,000
N=&E A P2S 215,000 30,000 185,000
= 64,500
= 150,500
101 e1214| 105,000 0 105,000
=} 31,500
= 73,500
04 J|12ZtHIZ22NEES 105,000 0 105,000
OMEHIIES 22tz =20 105,000,000 105,000
& 31,500
= 73,500
206 M = Hl 10,000 10,000 0
& 3,000
= 7,000
01 X2 H| 10,000 10,000 0
OMEEE =Y 2 5,000& * 2,000 10,000
o=} 3,000
= 7,000
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SN BEAMD
M HII=2 NS ¥ Hel
ool BIEY I4 (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 100,000 20,000 80,000
= 30,000
s 70,000
05 RIZHRI & 3 100,000 20,000 80,000
OZsHIE = XMl 100,000, 000& 100,000
< 30,000
s 70,000
PP == 1,303,790 1,812,835 A 509,045
= 69,500
= 40,800
e 1,193,490
MEHIIE st 809,663 782,058 27,605
101 @124 dl 403,328 392,823 10,505
4 D12t Z2XREES 403,328 392,823 10,505
OMEHIISHeld HeaES: Jdd8 403,328
—Jlas 73,7203 * 1498 x 245 252,860
SEsd2fsY 73,720 * 1498 « 862 88,759
—BE= 341,619,000& = 0.09 30,746
—EAZ 73,720& * 302 * 14 * 365/365 30,963
201 L2l 331,735 300,635 31,100
01 At 22l 271,635 250,535 21,100
Ogt=&H| 31,975
— MDD BHE&E A CHLHE 50,0003 * 2004 10,000
—NEEE +TESII(PPEM) &
300& = 10,0000H 3,000
—MHEs ¥ SAMYI 2d EE= MH
200& = 25,0000H 5,000
—SASMYI BEXHEII(120¢ ) 2
75,5002 = 5004 3,775
—MEE Zcl=Hg & 100,000& = 604 6,000
— SASMAYI HEASII 2el==2
4,500,000& = 5% » 1228 2,700
—HEEMN JSAE HUHEXE AX
100,008 * 574 2 500
—H=EN ASMNY HACT L W =
s 2y 1,000, 0002 1,000
om =t 500
—W=EN YSMY HY X)) P
500,000& 500
odxs 238,600
—SASMYI =W HEAHSIII Xz
60,000 = 330CH = 12& 237,600
—HEg&Zs 2 Y 500,0003 * 23] 1,000
Oo2Z+¢ 560




SH: BHAMD
M HIIE AHEs 2 Hel
&?: UHFMHEE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—SASF HII=2 2YAN dUEI /AX 3
o= 70,000& = 8H 560
02 =224l 60,100 50,100 10,000
OAIE ZHIS X 60,100
—HHEEGE SN2+
2,000,000 * 2000 A& 40,000
— SASMAI HEAHEIII SR+
25,000& = 5904 = 12& 17,700
— B M D SEoRA RS
100,000& » 20 A& « 12& 2,400
202 044l 3,600 3,600 0
01 SLHOIYI 3,600 3,600 0
OMdEHII=S Mel 2=
150,000& » 29 = 12& 3,600
301 LA S 2,000 2,000 0
12 JIE24 3 2,000 2,000 0
OB =HEL &I 7
500& * 4,000kg 2,000
401 Al HIZ 2018 69,000 83,000 214,000
01 A& HI 69,000 83,000 214,000
OSASAdI HEAEI I &I AL S A
700,000& « 30CH 21,000
O2dadteAa & 48,000
— 2gotRA RXE 4
20,000,000& * 20 A 40,000
— &I &l 1,500,000 = 200 A& 3,000
— 22lotA St &
2,500,000& * 200 £ 5,000
ez suoty 4XIX& 75,000 149,650 AT4,650
= 37,500
< 15,000
s 22,500
401 Al HIZ 201 Y] 75,000 149,650 AT4,650
= 37,500
< 15,000
s 22,500
01 A& HI 75,000 149,650 AT4,650
omMgsg suoteg 4XX& 75,000,000& 75,000
= 37,500
< 15,000
[ia 22,500
SZEMHHE =H243 371,000 371,000 0
= 29,000
< 22,800
[ia 319,200
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SN HEAMD
M HIIE AHEs 2 Hel
Sl NHAHES CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 371,000 371,000 0
= 29,000
< 22,800
s 319,200
12 JEEd= 371,000 371,000 0
Og=HII2 =HEHHI(HEEY &)
371,000,000 371,000
= 29,000
< 22,800
s 319,200
Hess d8A4 &3 38,127 460,127 A 422,000
201 ¢er24| 38,127 38,127 0
01 At 22/l 12,107 12,107 0
Oger==EH| 12,107
- HEES HASB(FL & AR S)
70,000& * 5& = 43| 1,400
— &8ss 2548 22,7003 * 1,500kg 4,050
—NEessE BAELU(EY) 2
10,000& * 1004 1,000
—HEES M2 2HE =2
500,000& * 6HE= 3,000
—HIII=EE =2
192,720& = 3 A& = 23] 1,157
— PN EE R (LS, 0IATE)
1,500,000 1,500
02 =24l 26,020 26,020 0
OA&EHl s Xl 15,000
—HEE2s 48] FXNE=*
1,000,000& * 5& * 23| 10,000
—UHEHIIE M2ANE FXNE>
1,000,000 = 53l 5,000
OXtg & et 11,020
—EdH, XNAX RFH
1,300& = 304 = 180¢ 7,020
— EdH, XAX ==cldl 2,000,000& = 2CH 4,000
Zsyoly 25 X 10,000 50,000 40,000
= 3,000
< 3,000
s 4,000
401 Al HIZ 201 I 10,000 50,000 A 40,000
= 3,000
< 3,000
s 4,000
01 A& Bl 10,000 50,000 A 40,000
OHHlY &ot&E 4X 5,000,000& * 242 10,000
= 3,000
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SH: BHAMD
Bu: AZS ML
Sl ABSIM - HUAL el (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 1,440 1,440 0
= 673
= 767
01 AP 22| H| 1,440 1,440 0
Ogst=2H| 1,440
— S EEH ADNEE AIE22
40,000& * 3¥H * 128 1,440
= 673
= 767
301 dEtE M= 2,400 2,400 0
= 1,200
& 816
= 384
12 JIEtE2 A= 2,400 2,400 0
OALI ZAI(AE)g2s 24 2,400,000& 2,400
= 1,200
= 816
= 384
HEloD|sAaE dd2ed 29 7,500 8,500 A 1,000
= 2,050
= 2,050
= 3,400
301 LBt A= 7,500 8,500 A 1,000
= 2,050
= 2,050
= 3,400
12 JIEtE A& =2 7,500 8,500 A 1,000
ONelol JIsAsE deaed s B4
50,000& = 10 * 153 7,500
= 2,050
= 2,050
= 3,400
Helo|2A 2 XN} 8% 249 118,600 100,000 18,600
= 59,300
= 17,790
= 41,510
307 212t0| & 118,600 100,000 18,600
= 59,300
= 17,790
= 41,510
05 QIZ2tREF 2 118,600 100,000 18,600
O0elol Az &x2d9 XN
118,600,000 118,600
= 59,300
= 17,790
= 41,510
oo 2e=2d 200 200 0
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A BEAMD
By AB M
Crlr MESM - FuA B RED
= _ — d =
SA - B (SA) - MRAY - BYS e 2
= 100
=) 100
201 24l 200 200 0
= 100
=) 100
01 AtR2t2ltl 200 200 0
O RAMES +=HZAtHI 100,000& * 2J0H A& 200
=2 100
< 100
HE2LZH (240 46,024 43,632 2,392
22Ul (eF 94 46,024 43,632 2,392
22l (eE 24 46,024 43,632 2,392
201 Let24E] 26,224 25,032 1,192
01 AFR 22l 26,224 25,032 1,192
Oget=EH| 8,800,000 8,800
O= &l 6,0008 * 22 11 * 123 17,424
202 04l 13,800 12,600 1,200
01 SLHOYI 13,800 12,600 1,200
OJlzgR==™ 50,000& = 23% = 12& 13,800
203 YR =2t 4,800 4,800 0
04 B2 YR 4,800 4,800 0
ORN2EYE =4I 400,000& = 122 4,800
204 MR = F Y| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OXMZ LR F Y| 100,000& * 123 1,200
Hees (2240 362,472 346,840 15,632
HWEHAX S (SZ A H1L) 362,472 346,840 15,632
WEHHX = (2Z A4 362,472 346,840 15,632
701 JIEtSI HSHES 300,472 291,840 8,632
01 JIEtel HE &= 300,472 291,840 8,632
AN SEIH d&E3 300,472
—IIIEEES3XANE 2E 300,472,000 300,472
02J1=s8&E=2 62,000 55,000 7,000
01 JI=dsE= 62,000 55,000 7,000
OHJISHMelAI" =8 FOXE (&)
62,000,000 62,000
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